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>> A=[0 1;-2 -3];B=[0;1];C=[1 0];D=0;
>> ss(A,B,C,D)

a =
X1 Xx2
x1 0 1
x2 -2 -3
b =
ul
x1 O
x2 1
C =
X1 Xx2
yl 1 O
d =
ul
vyl O

Continuous-time model.
>> tf(ss(A,B,C,D))

Transfer function:

>> A=[0 1;-2 -3];B=[0;1];C=[1 0];D=4;
>> ss(A,B,C,D)

a =
X1l Xx2
x1 0 1
X2 -2 -3

-



x1 O
x2 1
C =
X1l X2
vyl 1 O
d =
ul
yl 4

Continuous-time model.
>> tf(ss(A,B,C,D))

Transfer function:
4 sM"2 +12 s + 9
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OtcHSl MATLAB HEOIM zpk = AIAERIE SE

>> A=[0 1;2 -1];B=[0;1];C=[1 0];D=0;
>> tf(ss(A,B,C,D))

Transfer function:

>> zpk(ss(A,B,C,D))

Zero/pole/gain:

(s-1) (st2)
>> eig(A)

ans =

, 0|52 EEiZ UEtH=E BZ00ICH



>> A=[-3 1;0 -4];B=[1;0];
>> Mc=[B A*B]

Mc =

1 -3

0 0
>> det(Mc)
ans =

0

>> A=[-3 1;0 -4];B=[0;1];
>> Mc=[B A*B]

Mc =

0 1

1 -4
>> det(Mc)
ans =

-1

>> A=[-3 1;0 -4];B=[0;1];C=[0 1];
>> Mo=[C;C*A]

Mo =

0 1

0o -4
>> det(Mo)
ans =

0
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>> A=[-3 1;0 -4];B=[0;1];C=[1 0O];
>> Mo=[C;C*A]

Mo =



1 0
-3 1

>> det(Mo)
ans =

1
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MATLAB Program---—-——————————— e

A=[-3 0 0;0 -4 0;0 O -5];B=[1;1;1];C=[1 1 1];
Mc=[B A*B A*A*B]

pl=[0 O 1]*inv(Mc)

Pinv=[pl;pl*A;pl*A*A]

Pinv*A*inv(Pinv)

Pinv*B

C*inv(Pinv)



